
1) Solve 11s2 + 14s - 5 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

2) Find the range of the following set of data:

16, -0.5

Answer: ____________

3) (-1026) ÷ (-27)

Answer: ____________

4) 532 ÷ (-28)

Answer: ____________

5) 10000 ÷ 1000

Answer: ____________

6) 10000 ÷ 1000

Answer: ____________

7) (15 - 7) + (8 + 19)

Answer: ____________

8) 32.7 x 4

Answer: ____________

9) 870 + (-181)

Answer: ____________

10) Increase 44 by 64%

Answer: ____________

11) 32 + 13 + 8

Answer: ____________

12) Find the range of the following set of data:

-12, -5, 0.4

Answer: ____________

13) 557 - (-365)

Answer: ____________

14) 1.3 x 1.4

Answer: ____________

15) 478.8 ÷ 28.5

Answer: ____________
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16) 759 ÷ 23

Answer: ____________

17) 'What is the probability of rolling a 
multiple of 4.when rolling a dice

Answer: ____________

18) Convert the following mixed number 
419/4 into an improper fraction.

Answer: ____________

19) 310 ÷ (-10)

Answer: ____________

20) (-216) ÷ 18

Answer: ____________

Total: ___ / 20
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Answers:

1) s = 0.3 or -1.6 2) 16.5 3) 38 4) -19 5) 10 6) 10 7) 35

8) 130.8 9) 689 10) 72.16 11) 30 12) 12.4 13) 922 14) 1.82

15) 16.8 16) 33 17) 1/6 18) 35/4 19) -31 20) -12
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